SplashLearn

Model the Scenario

Create a model and write a multiplication expression for each part.

©

in each packet.

Tim has 5 packets of cookies. There are 2 choco chip cookies and 3 fruit & nut cookies

Model : el
a. Total number of choco chip cookies. X
b. Total number of fruit & nut cookies. X
c. Total number of cookies. X

Richard packed 3 bags of toys. There are 6 dolls and 4 ducks in each bag..

Model : g '

g
a. Total number of dolls. X
b. Total number of ducks X

c. Total number of toys X




